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TRA77IVEFEEYORE
B & MYEEDRE e il MPEEDRE i
No,73 148
No,74 143
No,75 144
No,76 146
No,77 149
No,78 142
No,79 146
No,80 142
No,81 147
No,82 146
Y = 1453
n= 10
X= 145.3
Max = 149
| Min= 142 |




FIO7 -3 #iE
==t
X 4 BAEZHNETAIIWEEY (EEIR) HIEDE = 2,330
E&(cm) FHE B & D E N
HI =1 HE
X, X, X5 X, (cm) (g/cm?) (%)
No,74 (&) | 5.2 5.1 5.1 5.2 5.15 2,317 99.4%
No,80 (&) | 5.0 5.0 4.9 4.8 4.92 2,268 97.3%
No,87 (&) | 5.8 5.9 5.9 5.6 5.80 2,278 97.8%
X; 5.29 98.2%
Max  5.9cm Max  99.4%
Min  4.8cm Min  97.3%




(RE) K7

ITE%
X 9 BEBRETIIZVWNESY (BEEER) Rdmax 2,359 (g/cm®)
palf=y Skt (%) BIREE (g/cm’) HEOE (%)
No, 73 7. 0% 2,304 97. 7%
No, 80 6. 8% 2,321 98. 4%
No, 90 7. 3% 2,295 97. 3%
Max 1. 3% Max  98. 4%
Min 6. 8% Min  97.3%
X; 7.03% X5 97. 8%
R H FEE B B & E X
No,73 No,80 No,90
|
O
Ca=m T
& ~c
K 5.0 = e e
Lt X5=7.03%
[ L] RN
2350 bbbl -.._..I_..|_ O Y A R B Y B
i |
E 2,304 2,321
o S
e 0 98.4% T~ 2,295 _
MFE 2,276 oI 12 X5=97.8%
(96. 5% (96.5% U E)
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